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H
r
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F
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AN el 04t

M B2)|® LeME XY
t¢elr 25X Mbla X& (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
L OIEOH QI Bt 471,849,924 372,381,574 99,468,350
= 409,930,670
J| 2,024,351
< 59,894,903
20 =48 XA 378,221,075 281,068,351 97,152,724
= 335,534,327
J| 1,213,351
< 41,473,397
==X MHIA X3 356,996,909 280,295, 350 76,701,559
= 332,193,163
J| 1,213,351
< 23,590,395
COHMASENHR =8 23,000 21,000 2,000
201 Let24d] 18,000 18,000 0
01 At 22/l 18,000 18,000 0
Ot & ==ZHl 18,000
203 R =&t 5,000 3,000 2,000
03 AIMF=XH R =AY 5,000 3,000 2,000
OLQFMHAFRFA 5,000
d2Y 2948 XA (01Y) 108,400 535,680 A 427,280
308 XtXIEHHSOIA 108,400 535,680 A 427,280
01 AXHHIYEES 108,400 535,680 A 427,280
OZ=2g 294l XA(01) 108,400
Z2Y g (23H]) XN 4,476,720 4,439,055 37,665
= 3,892,800
< 583,920
308 XXl EHH SOl A 4,476,720 4,439,055 37,665
= 3,892,800
< 583,920
01 HXNHHMBHEES 4,476,720 4,439,055 37,665
OZ=2Y Yoy (Z¥=H) A& 4,476,720
= 3,892,800
= 583,920
Z2Y ZI9XMEH 2 281,250 281,250 0
= 140,625
< 140,625
307 glz2+ol & 281,250 281,250 0
= 140,625
< 140,625
11T M SXASEEX 281,250 0 281,250
OZ2Y Z29XJdH =29 281,250
= 140,625
< 140,625




AN el 04t

M B2)|® LeME XY
t¢elr 25X Mbla X& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z2Y =3 Tzl &2(ed X 68,071 66,631 1,440
308 AHXIEHH SOl 68,071 66,631 1,440
01 HIXNHHBNEES 68,071 66,631 1,440
Od24g =3 Tz gz X 68,071
9988 = Lt=0l 1,601,839 1,255,780 346,059
307 21201 A 48,000 48,000 0
11T MISXASEX 48,000 0 48,000
Ooosgd = Lt= stote 48,000
308 XX EHH SOl A 1,553,839 1,207,780 346,059
01 HXNHHNBHEES 1,553,839 1,207,780 346,059
O9988&H = Lt 0l At S 1,553,839
LSS AMHIA 6,074,375 6,901,044 A 826,669
= 5,334,644
< 739,731
308 XX EHSOIA 6,074,375 6,901,044 A 826,669
= 5,334,644
< 739,731
01 HIXNHHBNEES 6,074,375 6,901,044 A 826,669
OkossIE Mt A 3,296,607
= 2,921,044
< 375,563
OE DAL Bl A 110,372
= 97,800
= 12,572
Ok sssE8AMUIA(HIRA) 2,613,546
= 2,315,800
< 297,746
okossJI=AtlA XIE 53,850
HOt=QlABIA XI&(01) 679,900 3,227,820 A 2,547,920
308 MtXIEHMSOIH 679,900 3,227,820 A 2,547,920
01 HXNHHNBHEES 679,900 3,227,820 A 2,547,920
ORI IS0 XIJ(01Y) 535,700
OMIMI-QSTAIE 2 XA (01) 144,200
SHLSSAESB0IAMAE 2 432,421 372,600 59,821
J| 360,351
= 72,070
308 MtXIEHSOIH 345,301 273,600 71,701
J| 287,751
< 57,550
01 X HHILEXS 345,301 273,600 71,701
O=EANoEsSHdE20l ANAE 29 345,301
Jl 287,751




A el Zoel
M B2)|® LeME XY
Selr L2=X MHIA X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 57,550
403 MtXISHH S0l & 87,120 99,000 A 11,880
J| 72,600
< 14,520
01 XM A=2EE 87,120 99,000 211,880
O=SHEUSSAHEEE0 ANAE 2= 87,120
J| 72,600
< 14,520
ZAeo 22324 AMY X2 (01Y) 195,500 1,116,940 A 921,440
308 MtXIEHMSOH 195,500 1,116,940 A 921,440
01 XML EES 195,500 1,116,940 A 921,440
OZBZAYREZAAY (01Y) 94,500
OMASTHIH = QI A A & AHR (0] ) 101,000
SEECL0EEgENR 28 XA 602,090 602,090 0
307 glz2tol & 602,090 602,090 0
05 RIZtE = 602,090 602,090 0
OsEa=sdsg=sla 28N 602,090
etcols =S5degs 23X 185,200 149,000 36,200
307 21201 A 185,200 149,000 36,200
11T M3 SXAISEEX 185,200 0 185,200
Oligtcls s=dEgs 28X 185,200
LS I2 SAA HEAE 5,500 5,500 0
307 21201 A 5,500 5,500 0
11 ALSI S XAEE = 5,500 0 5,500
OLQ=ERIN2 SAL 28 o 5,500
Lot X (=8go ) 19,776 19,800 A24
= 9,888
< 9,888
101 @144 Hl 19,776 19,800 N24
= 9,888
< 9,888
04 DIt Z2XREE+ 19,776 19,800 N24
Ol At HREX & MREEX 18,296
= 9,148
< 9,148
O=8 18 MHEES 1,480
= 740
< 740
S olY Rl K& 17,164,801 14,379,001 2,785,800
= 15,244,163
< 1,920,638
308 XX EHSOIA 17,164,801 14,379,001 2,785,800
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= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
01 IXNHHBANEES 600,000 600,000 0
Okol el (XRHAl) 600,000
ALIGE2Y &Xdl XA 50,000 0 50,000
403 XSS X201 & 50,000 0 50,000
01 XXM A2E = 50,000 0 50,000
OAUONEY &Xdl X& 50,000
Ao EdH 29 ((01Y) 5,800 26,780 /20,980
308 XXM SO0 A 5,800 26,780 220,980
01 AXSGHBLELS 5,800 26,780 A~ 20,980
OXHaEHE 2Y(01Y) 5,800
XOHXI=2eldl (%Hyl) XA 562,900 869, 700 A 306,800
J| 433,000
= 129,900
308 XX EHSOIA 562,900 869,700 A 306,800
J| 433,000
< 129,900
01 IXNHHBNEES 562,900 869, 700 A 306,800
OXIOHXIZ 2telgl (HbEl) X 562,900
J| 433,000
< 129,900
XOHER ssHE XA 176,239 126,096 50,143
308 XXIEHH SOl A 176,239 126,096 50,143
01 AXHHILEES 176,239 126,096 50,143
OXlHex ssHE XN 176,239
XHEsS3S AL XA 48,000 20,000 28,000
307 21201 A 20,000 20,000 0
3l = XALE 2 X 20,000 0 20,000
OXIOf - &2 AANLXA 20,000
308 XX EHH SOl 28,000 0 28,000
01 IXNHHBNEES 28,000 0 28,000
OoXime =08 294 28,000
ZAXNH2ACSEANRMEH 22 600,000 600,000 0
J| 420,000
< 180,000
307 21201 A 600,000 600,000 0
J| 420,000
< 180,000
02 QIAHFAAFEX 600,000 600,000 0
O=E=E ZI9X0HHEH 2 K& 600,000
J| 420,000
= 180,000




A el Zoel
M B2)|® LeME XY
t¢elr 25X Mbla X& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
COISAESXA(0Y) 6,000 30,240 A24,240
308 AHXIEHH SOl 6,000 30,240 A24,240
01 HIXNHHBNEES 6,000 30,240 A 24,240
OLoIeEsSAE=sKE(01Y) 6,000
xza 322,930,782 225,931,234 96,999,548
= 307,571,043
< 15,359,739
308 XXIEHH SOl A 322,930,782 225,931,234 96,999,548
= 307,571,043
< 15,359,739
01 AXHHIYEES 322,930,782 225,931,234 96,999,548
OJI=4d = 322,930,782
= 307,571,043
= 15,359,739
AMZISXIAIE HIOLAA =& 12,474 0 12,474
201 Let24d] 12,474 0 12,474
01 At 22l 12,474 0 12,474
OMEIEXAE B¢ 12,474
S2s ds2dAY 10,000 15,000 A5,000
308 AHAIEHHSOIA 10,000 15,000 A5,000
01 HIXNHHNBMNELS 10,000 15,000 A5,000
OSIStESLHAY 10,000
Uet=olsl AZX3 A= 28X 2 60,871 60,871 0
308 XXM SO0 A 60,871 60,871 0
01 AXHHBISEES 60,871 60,871 0
Oligtc sl AlZXE AHR= 2EXE 60,871
LoO=ETAE XA 21,224,166 773,001 20,451,165
= 3,341,164
= 17,883,002
SAMAIE EXXE ALY 444,500 0 444,500
= 444,500
403 XIS E X201 & 444,500 0 444,500
2 444,500
01 X SHHN2E = 444,500 0 444,500
O e ZAANE &5 444,500
2 444,500
LAsXAE JIs2Z 1,550,481 119,001 1,431,480
= 1,192,653
< 357,828
403 Ut S S X201 & 1,550,481 119,001 1,431,480
= 1,192,653




A el Zoel
M B2)|® LeME XY
Sl Lol=XAL X (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 357,828
01 XM A=2EE 1,550,481 119,001 1,431,480
OL2=EXAE JIs2Z 1,550,481
= 1,192,653
< 357,828
LColMEAld XA 18,340,073 0 18,340,073
= 1,261,847
< 17,078,226
308 AAIEHHSOIA 18,340,073 0 18,340,073
= 1,261,847
< 17,078,226
01 HXNHHBHELS 18,340,073 0 18,340,073
OLoAZANd 29 1,424,085
= 1,261,847
< 162,238
OL@ILIN& A=W XA 16,915,988
LOESHEEIZ 2Y 623,360 0 623,360
= 311,680
< 311,680
307 21201 A 623,360 0 623,360
= 311,680
< 311,680
10 ALSISXAIEEER2IHEX 623,360 0 623,360
OkoEs dEJ2 2Z 623,360
= 311,680
< 311,680
Sfmoi= =2 &H 174,820 0 174,820
= 87,410
S 87,410
307 glz2+ol & 174,820 0 174,820
= 87,410
< 87,410
10 AL SXAIEEE2EH EX 174,820 0 174,820
Ostthulofc ol MEEHHXNA 174,820
= 87,410
= 87,410
QLUES A LA 19,936 0 19,936
101 14l 16,256 0 16,256
4 JI2ZtHZ22XREES 16,256 0 16,256
Oge Bxoa oAy 15,192
O=2, 18 M4Ms BEE= 1,064
201 L4l 1,680 0 1,680
01 At 22l 1,680 0 1,680
ORYSBSANERFE Sl 1,680




SA: LoIFfe D
HE: 2I|& &
[¢]

2
S ==X AL X8

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
202 0db] 2,000 0 2,000
01 2LHOHI 2,000 0 2,000
OQALSAILRFZX 0fH| 2,000
MOPEII D2 XS AL AR A H ALY 55,996 0 55,996
= 43,074
& 12,922
308 XX SHHSOIA 55,996 0 55,996
= 43,074
& 12,922
01 AIXHMBAAEXZ 55,996 0 55,996
OMILEI LI 2 XISAZ XA AHMEIA 55,996
- 43,074
& 12,922
LOSEXNAIE SAN WUE 10,000 0 10,000
307 212t0| & 10,000 0 10,000
11 AMISXAEE X 10,000 0 10,000
Ogol & Ald SAA = 10,000
LOSEXAIE XNE&EEH 5,000 0 5,000
202 04 b 5,000 0 5,000
01 2LHHI 5,000 0 5,000
OLQEXNXNAE NEEZE O] 5,000
ool =S 93,573,309 91,260,954 2,312,355
= 74,396,343
Jl 811,000
& 18,365,966
0ROl Aol & SFA 84,132,742 75,490, 469 8,642,273
= 71,027,400
Dl 811,000
& 12,294,342
oo ds XN 485,578 477,088 8,490
307 QI2t01 ™ 485,578 477,088 8,490
11 A SAAEE X 485,578 0 485,578
O&e SEE2EAY 126,208
OXNXEEOC XNEXNIJLAEH &H 110,000
OZoe THEXNRLMEH &4 101,500
OEAANAE X AMUFAE 29 45,214
OXNHMEOHAHEHIAAL XNYFLHMEH &H 102,656
Mool E s XS (KHM) 322,000 313,500 8,500
307 QI2t0| & 316,000 306,000 10,000
11 A SAAEE X 316,000 0 316,000
OFL=ZH0IS MBI AKX 18,000




SH: ol E Ol Dt
HE: ZOjY SNEH

0
r
J

ol FOHOl MOE EA (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET

OlUzs2d datAte 2 & 28,000
OMILEHR &8 & XZAY 25,000
OZMUEsSEAHM2H 30,000
OZOHZMH & dgHE 23 30,000
O=3tnazdg 17,000
OHMA=XSEAS 80,000
OWEHEM MNISHE 23 25,000
OFIAL JE A 35,000
OME=3t ZAHS 3,000
OEXZE0lee &HA 10,000
OZlegsZEEA 10,000
Osotelald I8 &AL 5,000

308 XX EHH SOl A 6,000 7,500 A 1,500

01 HXNHHNBHEELS 6,000 7,500 A 1,500
OZZZMLY RES4AY 6,000

ZOHAE XD Atcll2el AlgEdH 29 200,000 200,000 0
= 100,000
< 100,000

307 2Iztol ™ 200,000 200,000 0
= 100,000
< 100,000

11T M SRAISE EX 200,000 0 200,000
OZMWALEIR A2 B2l NBUE 29 200,000
= 100,000
< 100,000

ZOoHel ME2xJ13 K& 65,309 68,150 A2,841
2 55,582
< 9,727

308 XXM SO A 65,309 68,150 A2,841
2 55,582
< 9,727

01 IXNHHBANEES 65,309 68,150 A2,841
OFMUAEERI 2 XA 65,309
= 55,582
< 9,727

Zojerel 2 X & 940,000 777,850 162, 150
= 800,000
= 140,000

308 XtXIEHHSOIA 940,000 777,850 162, 150
= 800,000
= 140,000

01 HXNHHNBHELS 940,000 777,850 162, 150
O&eIeZHl A& 940,000
= 800,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| = 720,000
Z0He Xt H &l K& 39,950 42,300 N 2,350
= 34,000
& 5,950
308 XHXIEHSOlA 39,950 42,300 N 2,350
= 34,000
&< 5,950
01 AIXSHHEMNEXZ 39,950 42,300 N 2,350
OO XH sHy| 39,950
= 34,000
o= 5,950
ES=244 63 MNEASGA AX2d 9,000 15,000 A 6,000
308 MXISHHMSOIA 9,000 15,000 A 6,000
01 IXHHIMNEEXS 9,000 15,000 A 6,000
Os=xd U3 NEASA X9 9,000
MEZOHQ THEASA 2H 15,000 15,000 0
307 S12t0| & 15,000 15,000 0
10 AISIEXAIEEHE2IHIEX 15,000 15,000 0
OQMNEEHQ THEAGSA 2H 15,000
ol sSHAUHEZ XS AIS 30,000 30,000 0
307 2iz2to| & 30,000 30,000 0
10 MM SAANEEHESIGHEX 30,000 30,000 0
OHMe EHUHEZ XA 30,000
MHOIAQHQl HMNSFI|I 2 AlE2d 42,000 70,000 A 28,000
308 XAHXIGH SO0l & 42,000 70,000 A 28,000
01 AIKSHHENEXZ 42,000 70,000 A 28,000
OHOIEOHe M) 2 AIESY 42 000
=S (II=x) 3,596,239 2,854,800 741,439
= 2,766,338
= 829,901
308 MXISHMSOIA 3,596,239 2,854,800 741,439
= 2,766,338
& 829,901
01 IXHHIMNEEXTZ 3,596,239 2,854,800 741,439
OFMHEH(IIx) 3,596,239
= 2,766,338
= 829,901
NS (HARAS) 3,424,491 2,988,700 435,791
= 2,634,224
= 790,267
308 XHXIEHSOIA 3,424,491 2,988,700 435,791
= 2,634,224




2N

X{ XH -
S =

= O FO0H el
XOHol 2XEZA

0
r
J

el Mool MOE B CER-ED
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[ 790,267
01 IXHHIMNEXZ 3,424,491 2,988,700 435,791
QXML (HARAS) 3,424,491
= 2,634,224
& 790,267
HoelA= 24,356,829 22,493,317 1,863,512
= 21,582,000
o= 2,774,829
308 XX EHSOIA 24,356,829 22,493,317 1,863,512
= 21,582,000
o= 2,774,829
01 AIXSHMENMNEX= 24,356,829 22,493,317 1,863,512
OHMeIA= 24,356,829
= 21,582,000
& 2,774,829
KHZEOHQIHOIAA JIx XNRHEH 29 (0/Y) 19,800 99,000 ANT79,200
308 XHXIGHH S0l & 19,800 99,000 ANT79,200
01 AIXISHHEMNEX= 19,800 99,000 ANT79,200
OXMZEOMHQAHOIAL JI=XNFLAEH 2L (01 19,800
H2AAHM SHEHAH ==Y XS 2,000 2,000 0
201 et | 2,000 2,000 0
01 AP 2t 2] H| 2,000 2,000 0
OFLEHHS EHEHNH 34 X 2,000
2o el 0l X ABIAASY XS 135,000 135,000 0
307 2I2t0| & 135,000 135,000 0
11 A EXAIEEX 135,000 0 135,000
OZ0oHel Ol=s=EXNAMEIAAIYE K& 135,000
HHESAMAMANE 29 37,621 34,202 3,419
= 22,130
& 15,491
308 AMXIEHMSOIA 37,621 34,202 3,419
= 22,130
== 15,491
01 AIXSHMEAMNEX= 37,621 34,202 3,419
O&Me SSHANME &F 37,621
= 22,130
= 15,491
O &0HC XI&AS 103,700 26,070 77,630
= 88,400
= 15,300
308 XAXISHSO0|I& 103,700 26,070 77,630
= 88,400
& 15,300




2N

g Foje sxsd
el Mool MOE B CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 103,700 26,070 77,630
O&Ze E4HIE XA 63,200
= 56,000
< 7,200
O WEAY XA 40,500
= 32,400
< 8,100
SHE Z0HQ FEOHZALY 297,160 329,460 A 32,300
= 174,800
= 122,360
403 XSS A0l & 297,160 329,460 A 32,300
= 174,800
< 122,360
01 X SHMA2E X 297,160 329,460 A 32,300
Os0HE ZOH =& JHEZALS 297,160
= 174,800
< 122,360
STSHHA NS M T ALY 261,000 261,000 0
= 180,000
< 81,000
308 XtXIEHHSOIA 261,000 261,000 0
= 180,000
< 81,000
01 X HHILEES 261,000 261,000 0
OZSSZMH NEMEXJAY 261,000
= 180,000
< 81,000
O ZOHQ JIAFER0IAFE XI2(012) 27,500 137,520 A 110,020
308 A EHHSOIA 27,500 137,520 A 110,020
01 HXNHHNBHELS 27,500 137,520 A 110,020
OCHZEOMC JFAFZ= 201 AbY XI& (01 27,500
SSTHL NP MEHMEH 2 175,000 175,000 0
308 X EHH SOl A 175,000 175,000 0
01 HXNHHBNEES 175,000 175,000 0
SSYMHL NgdHady 29 X 175,000
ol nsH XA 38,560 38,560 0
308 XtXIEHHSOIA 38,560 38,560 0
01 AXHHIYEES 38,560 38,560 0
O&oel wsdl XI& 38,560
ZOHROIEXNRAEH 29 175,000 122,000 53,000
307 21201 A 175,000 0 175,000
05 BIZHRI & 3 175,000 0 175,000




2N

M mojo =2XEX
ol FOHOl MOE EA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
O=E=E ZOUNSIAHEH 29 175,000
=S5 ZHL SIS ALY 328,202 301,293 26,909
307 21201 A 13,500 13,500 0
05 RIZt2IEt = 13,500 13,500 0
OzIEZSZMHUEIRH AE=+E 13,500
308 AXIEHHSOIA 314,702 287,793 26,909
01 HIXNHHBMNEELES 314,702 287,793 26,909
OzxssZMAEsSEX FIIXNE 196,992
OX=SHUAESESEX 24A12t FIHX& 17,367
OFoHel 22318 XA 16,621
OZMABSEZTAE A 83,722
AMZEOCIOLE JtAXRISS I N 10,000 10,000 0
308 XtXIEHHSOIA 10,000 10,000 0
01 X HHILEES 10,000 10,000 0
OAZZOHRINE JtAaTtssE eI & 10,000
LEMEAMEA TR 2,599,798 2,420,786 179,012
= 2,303,619
< 296,179
308 AAIEHHSOIA 2,599,798 2,420,786 179,012
= 2,303,619
< 296,179
01 HXNHHNBHELS 2,599,798 2,420,786 179,012
OggmMaddl A X 2,599,798
= 2,303,619
< 296,179
ZOHOIEL SR 489,417 444,706 44,711
= 342,592
< 146,825
307 glz2+ol & 489,417 444,706 44,711
= 342,592
= 146,825
11T MISRASER 489,417 0 489,417
OO0 DI =X 489,417
= 342,592
< 146,825
ALY HIH At 77,985 78,097 A112
= 69,101
= 8,884
308 XtXIEHH SOl A 77,985 78,097 A112
= 69,101
< 8,884
01 X HHILEXS 77,985 78,097 A2




AN el 04t
PN

Hu: mojel =2XEZ
Sl Tojol HoF B CERED
(o
SA - - ERA(B) - NTAY - BES 0f o il Hl D52

odoee X XI& 77,985
= 69,101
< 8,884

2L FRaelaY N 91,766 91,766 0
= 81,312
£ 10,454

308 XXM S0l ™ 91,766 91,766 0
2 81,312
£ 10,454

01 X EHHBLEES 91,766 91,766 0
LEHHARZ delag N2 91,766
= 81,312
= 10,454

SLTOIOINE FAXR 28,361 0 28,361
2 25,130
= 3,231

308 XHXI &M S0 & 28,361 0 28,361
= 25,130
< 3,231

01 AXSHHBEES 28,361 0 28,361
LEIMAINE FANE 28,361
= 25,130
£ 3,231

SO BBEAXN 37,410 51,772 A 14,362
=2 34,800
= 2,610

308 XXM SO0l ™ 37,410 51,772 A14,362
= 34,800
& 2,610

01 XM BAEES 37,410 51,772 14,362
OZ&E=dAMHlA X3 29,928
= 27,840
S 2,088
OSE=dAYEEXHE K& 7,482
= 6,960
== 522

ESJU R SN RPN = 16,434,780 14,806,971 1,627,809
= 15,149,066
= 1,285,714

308 NHXIEHMSO0IE 16,434,780 14,806,971 1,627,809
= 15,149,066
= 1,285,714

01 XM BaE2ES 16,434,780 14,806,971 1,627,809
OXHMUEBSXE At 16,285,714
= 15,000,000
< 1,285,714




AN el 04t
PN

M HOe =2XNE5E
el Mool MOE B CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O S=2LEe AIEAE 149,066
= 149,066
ZOHAAN=AIE D22 1,236,629 2,521,997 A 1,285,368
= 951,253
= 285,376
403 XIS E X201 & 1,236,629 2,521,997 A 1,285,368
= 951,253
< 285,376
01 X EHHMA=LE L 1,236,629 2,521,997 A 1,285,368
OBOMAUANFAIYL JISESZ 1,236,629
= 951,253
= 285,376
ZOHANFAIE 29 26,471,296 21,575,472 4,895,824
= 23,455,578
= 3,015,718
308 X EHSOIA 26,471,296 21,575,472 4,895,824
= 23,455,578
< 3,015,718
01 HXNHHNBMNEES 26,471,296 21,575,472 4,895,824
OZOMANFAIE 2E X 26,471,296
= 23,455,578
< 3,015,718
ZOIH=ALE 2Y(01Y) 223,700 1,072,477 ABAB,TTT
308 XXM SOIA 223,700 1,072,477 ABAB,TTT
01 AXHHBILEES 223,700 1,072,477 ABAB,TTT
QX ZSMEIE 2Z(012) 165,400
QX SHIAFAIE 2F(01Y) 58,300
Hel2d MR HAFAIE K& 74,400 69,600 4,800
308 XX EHH SOl 74,400 69,600 4,800
01 HXNHHBMNELS 74,400 69,600 4,800
OMe2d HMAANFAE X 74,400
ZOHAH=AIA &K NSEEES X 32,000 31,500 500
308 XXM SO A 32,000 31,500 500
01 IXNHHBMNEES 32,000 31,500 500
OHMAANF=AIE &K NHEEES N 32,000
ZOHANFAIE AW 2otMEH S N 18,968 22,313 A 3,345
308 MtXIEHSOIH 18,968 22,313 A 3,345
01 XML EES 18,968 22,313 A 3,345
OFMAANFAIE BAYE 25HHEH S X 18,968
ZOHAUNFAIE MEQ NJEHE WS 10,000 10,000 0
201 £B-2%| 10,000 10,000 0




2N

M Hoel =XNEsA
ol FOHOl MOE EA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 &AL2 I 10,000 10,000 0
OHMANFAIE M0 1A I NEHEWIS 10,000
ZOCIA=AIE AHIEA 0182 K 200,293 179,172 21,121
= 177,475
< 22,818
308 XtXIEHHSOIA 200,293 179,172 21,121
= 177,475
< 22,818
01 HXNHHBHEELS 200,293 179,172 21,121
OZFOMIAHFAE AHSZA 0l82 XA 200,293
= 177,475
< 22,818
ZOHIA=AIE AEHZ AL 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
11T M SXASE EX 4,000 0 4,000
OZOMANFAIE 1H MEHEZA 4,000
ZOHAANFAIE NE=EH 3,000 0 3,000
202 o4dl 3,000 0 3,000
01 = LH o4 1l 3,000 0 3,000
OHOMANF=AE NEEHSH 3,000
SSEL HE=E N 40,000 0 40,000
307 21201 A 40,000 0 40,000
11T MISRASEX 40,000 0 40,000
o=z AHges XA 40,000
GEEMe s =0 36,000 0 36,000
308 MtXIEHMSOIH 36,000 0 36,000
01 HXNHHBHEELS 36,000 0 36,000
OWLZHe BMN=E =Y 36,000
SSATEOL RIS XSHO0ISAS 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
11T M SRASE EX 30,000 0 30,000
OSsSUETHM A0S XHO0ISAY 30,000
S XA Z O I KI & XHCH & 25,000 0 25,000
308 XXM SO A 25,000 0 25,000
01 X HHILEES 25,000 0 25,000
OXEIZXI XM E ORI S XtHTH 3 25,000
Zoe NEs(MEgs) Né 811,000 0 811,000
J| 811,000
403 A X EHHS =0l A 811,000 0 811,000




SH: ol E Ol Dt
HE: ZOjY SNEH

el Mool MOE B (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

J| 811,000

01 XM A=2EE 811,000 0 811,000
Oz HEgEs(MEs) N 811,000
Jl 811,000

0N RHE M8 AEHZA 20,000 0 20,000

201 Let249] 20,000 0 20,000

01 At 22l 20,000 0 20,000
OZOHQl XgMa AEHZA 20,000

Zoiel MHasXAels Zst 9,440,567 15,770,485 26,329,918
2 3,368,943
=) 6,071,624

ZOofo MAZ HOIHALE 29 K& 281,771 148,125 133,646
2 99,375
= 182,396

307 glz2tol & 148,438 148,125 313
= 59,375
< 89,063

10 AL SXNAIEEE 2 H EX 148,438 148,125 313
OFOHQl MASZSEIHAIE 29 K& 148,438
= 59,375
< 89,063

403 XIS E X201 & 133,333 0 133,333
= 40,000
< 93,333

01 X SHHAN2E= 133,333 0 133,333
O&ofel MAZHIHAIE Az XS 133,333
2 40,000
S 93,333

ZOjo =X LR 2lAY XIS 1,173,276 1,010,080 163, 196
2 902,520
= 270,756

308 MtXIEHSOIH 1,173,276 1,010,080 163, 196
= 902,520
< 270,756

01 HXNHHNBHEES 1,173,276 1,010,080 163, 196
OFMA=SXRL Xl ALS X & 1,173,276
= 902,520
< 270,756

ZOHQl Lt ARl XA 2,420,584 2,158,021 262,563
= 1,861,987
< 558,597

308 XX EHH SOl 2,420,584 2,158,021 262,563
= 1,861,987
< 558,597




Dol o el Bt
e EXsd
DY MESIAMEIA 25

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
01 AXHHILEES 2,420,584 2,158,021 262,563
OHe et L RelAY XI& 2,420,584
= 1,861,987
< 558,597
A2 ZOH QI HOFAL THA A 148,155 122,946 25,209
= 137,818
< 10,337
308 XtXIEHHSOIA 148,155 122,946 25,209
= 137,818
= 10,337
01 HXNHHBHELS 148,155 122,946 25,209
OAIZZ0HQl QFOFAF IHA A 148,155
= 137,818
< 10,337
ZOUHAIXMATHEALE JISsES 469,616 409,429 60,187
= 361,243
< 108,373
403 Ut SHHS =0l & 469,616 409,429 60,187
= 361,243
< 108,373
01 HXSHMA=E X 469,616 409,429 60,187
OZOMAXNATNEAIL JIs22 469,616
= 361,243
< 108,373
ZOHULLOSHFINJALHZE 242,880 215,560 27,320
308 XXM SOIA 242,880 215,560 27,320
01 AXHHBISEES 242,880 215,560 27,320
OZpeZHS0o=I NHH 29 242,880
T ALSHESAY 44,000 40,000 4,000
308 XtXIEHHSOIA 44,000 40,000 4,000
01 AXHHILEES 44,000 40,000 4,000
OFHe AL SA A 44,000
O NGASIHEANE 2 1,427,180 1,427,180 0
307 gl & 1,427,180 1,427,180 0
05 BIZERIE 3 1,427,180 1,427,180 0
OFE=L FHsEgsI2 23 1,310,960
OMIt=SXNSAEEH2E 116,220
Zoe(ssel) sz 29 850,980 850,980 0
307 21201 A 850,980 850,980 0
05 BIZHRIE 3 850,980 850,980 0
OFML(BF2l) M2 29 850,980




AN el 04t

g Foje sxsd

Sl ZOjel HESXAMUA 2s CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZOHAAATHEANE 2 XA 373,400 1,648,981 A 1,275,581
308 AHXIEHH SOl 373,400 1,648,981 A 1,275,581
01 HIXNHHBNEES 373,400 1,648,981 A 1,275,581
OFMHAXATHEALE 2E XA (01Y) 373,400
ZONQIX A THEAIE 2 (X AHAN) 1,478,100 7,243,397 A5,765,297
308 XXIEHHSOIA 1,478,100 7,243,397 A5,765,297
01 AXHHBILEES 1,478,100 7,243,397 A5,765,297
OAZZOISX 2 2Z(01) 906,500
O ARSHEH 2 (01Y) 162,800
OF2AESAE 2g(01Y) 178,800
OXOTHEE 22 (01Y) 55,200
O=stSYguE 2L (012) 104,800
QX0 MIt=EXSAHEEH 2F(01) 70,000
ENEA2 23 108,063 93,980 14,083
308 A EHHSOIA 108,063 93,980 14,083
01 HIXNHHNBMNEELS 108,063 93,980 14,083
OFXNENZ 24 108,063
ZOCIZTHEAIL JISsEZ 10,200 0 10,200
= 6,000
< 4,200
402 RIZEX20| A 10,200 0 10,200
= 6,000
= 4,200
01 It 2 ALEE X 10,200 0 10,200
OZOML AZTHEAE JIsSEL 10,200
= 6,000
= 4,200
o JsZIItHal = 13,000 13,000 0
307 21201 A 13,000 13,000 0
11T M3 SXASEEX 13,000 0 13,000
OZoe JsZIItHal = 13,000
Ol AS EO 243t 40,000 40,000 0
307 21201 A 40,000 40,000 0
11T ALS S XA E = 40,000 0 40,000
OFHIMAS EHIf EASALY 40,000
SHEE ZMHAMREHH 2F 191,406 0 191,406
307 izl & 191,406 0 191,406
10 AL SXAIEEE 2 H EX 191,406 0 191,406
OZE=E ZHAMRSHEH 23 191,406




SA: ol E Ol
Mmool 2B

S O ME=EXAMHA 235 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SHEL +SGdH 29 167,956 0 167,956

307 glz2tol & 167,956 0 167,956

10 M3 ZXNANEHI2IHE=X 167,956 0 167,956
OFHFEE 39 dH 29 167,956

HH2HZH (= ZO0HQ ) 55,540 52,269 3,271

JlEZ3l 55,540 52,269 3,271

JIE23l 55,540 52,269 3,271

201 LB-2E| 17,740 16,359 1,381

01 At 2t 2l 17,740 16,359 1,381
OJl2+8Hl 7,240
OJ12=2 &l 10,500

202 O4dl 37,800 35,910 1,890

01 = LHAYI 37,800 35,910 1,890
OJlaul 37,800

_20_




